Math 201 - HW #1 Name _ Key
February 4, 2015 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (3 points) Consider the quadratic equation 22 + 0.4002z + 0.0008 = 0.

(a) Use four-digit arithmetic with truncating and the standard quadratic formula to
compute the solutions.
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(b) Use four-digit arithmetic with truncating and the modified quadratic formula to
compute the solutions.
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(c) Do the two approaches give significantly different results? Explain.
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2. (2 points) Suppose you are working with a computer that cannot process numbers
greater than 100. How could you use your computer to compute v/50% + 7027
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3. (1 point extra credit) Write a very short C++ program that implements your strategy
from above and outputs the value of 1/502 + 702. (You will need to #include<cmath>.)
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#tinclude <iostream>
#include <cmath>
using namespace std;

int main()

{
cout << "Without the trick... " << sqrt( 50.F * 50.F + 70.F * 70.F ) << endl;
cout << "With the trick... " << 10.F * sqrt( 5.F * 5.F + 7.F * 7.F ) << endl;
return( © );

} .



